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A0 110,587 (+21)
5 53,662 (-11)
Z 56,925 (+32)
L 44,028tt® (-3)
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BEAOGR. FEERSRAD (EEREAGIRCEFRSNZALD) &@E —BHUEIEA.

i AR 18R S1% 18R ik 1R | MR | A
JR\ERH] 427 2 187 0 240 2 185 2
EH] 215 4 99 1 116 3 76 1
E=H] 136 4 62 1 74 3 63 4
KEH] 38 0 15 0 23 0 18 0
WNEL] 12 -1 4 0 8 -1 5 -1
==l 86 0 37 0 49 0 26 0
i) 50 1 7 0 43 1 7 1
FEE L ] 507 0 272 -1 235 1 290 0
FEH] 25 0 14 0 11 0 16 0
1B H] 195 0 85 0 110 0 90 0
] 176 0 95 0 81 0 95 0
] 229 0 115 0 114 0 122 0
ZH] 157 0 71 0 86 0 67 -1
1= SHT 484 2 242 1 242 1 235 0
SrH] 79 1 37 1 42 0 45 1
1GAaH] 112 3 53 1 59 2 41 0
FASEH] 166 2 80 2 86 0 94 3
—&T 0 0 0 0 0 0 0 0
NET 108 -1 52 0 56 -1 52 -1
T&ET 139 1 66 0 73 1 55 0
N&ET 84 0 38 0 46 0 37 0
NET 160 -2 65 0 95 -2 32 0
T&HT 253 -1 94 0 159 -1 121 0
1ok ] 364 -2 159 -1 205 -1 188 1
SiEH] 2,588 10 1,260 2| 1,328 8 1,080 -1
RFRE] 3,473 2| 1,670 2| 1,803 o 1,371 -1
EEH] 1,579 -8 779 -3 800 -5 577 -4
a)=<tiil] 1,805 -4 927 -4 878 0 792 -3
FERHE] 423 -2 194 -1 229 -1 181 -1
FHATHT 3,652 14 1,829 3] 1,823 11 1,611 1
LT 2,405 2| 1,145 0| 1,260 2 987 0




VEIRH] 2,032 -4 973 -3 1,059 -1 640 -4
Ll e 4,855 -1 2,383 -2 2,472 1 1,898 -4
MEigEs] 2,168 -5| 1,061 -3| 1,107 -2 858 -8
EBZRHE] 9,497 -2| 4,642 41 4,855 -6| 3,637 -1
=2kH] 4,008 Of 1,954 0| 2,054 0| 1,519 0
[ EHET 1,160 3 597 -1 563 4 483 2
EREFHIER — 2,611 10 1,244 6| 1,367 4 898 2
EREFHTERS) 1,846 6 887 1 959 5 661 7
EREFHT PG 7> 594 -3 293 -1 301 -2 212 0
Er7KH] 5,669 -3 2,685 -6| 2,984 3| 1,957 0
g lii) 168 1 162 1 6 0 159 1
ERH] 21 -2 11 -3 10 1 11 -2
ETRE—TH 393 -4 206 -2 187 -2 175 -4
ETREIZTH 294 0 126 0 168 0 139 0
ETREI=TH -1 0 -1 0 0 0 -1 0
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 236 0 113 0 123 0 77 0
rES 0 0 0 0 0 0 0 0
TEE—TH 418 3 197 3 221 0 192 3
TEEZTH 726 -3 349 -1 377 -2 336 -2
TEE=TH 309 0 151 0 158 0 141 0
WERAT—TH 486 1 226 2 260 -1 231 1
RERE—TH 687 -4 318 -2 369 -2 328 -2
EE=TH 412 -3 205 -2 207 -1 218 -1
EMPRET—T B 322 -1 135 -1 187 0 148 0
Gl = 497 -6 236 -3 261 -3 240 -4
JtFEILE—TH 179 -1 82 -1 97 0 86 -1
JtFEILETZTH 405 -1 188 0 217 -1 180 0
A —TH 276 -3 146 -1 130 -2 146 -2
AR —TH 457 0 236 1 221 -1 248 0
FEH—TH 132 0 62 0 70 0 57 0
FZHZTH 333 -1 153 -1 180 0 158 -1
[REEIH 312 1 146 1 166 0 219 0
wFEE—TH 124 -1 60 -1 64 0 62 -1
RFEE =T H 266 0 112 0 154 0 96 0
RAEI—TH 457 -1 209 -1 248 0 175 0
FREIZTH 384 1 179 0 205 1 159 0
RREI=TH 523 -1 247 0 276 -1 228 -1
FRAFETI T H 405 -1 182 1 223 -2 163 -1
FRETRTH 593 -1 259 0 334 -1 220 -1
FuRE—TH 211 -1 116 -1 95 0 102 -1
FUEEI”TH 377 -2 218 -3 159 1 216 -1
HIIEEE—TH 455 -2 221 -1 234 -1 214 -1




HIGEAI”TH 321 -2 150 0 171 -2 130 -1
BRE—TH 158 -1 81 0 77 -1 83 0
BRI "TH 631 1 297 1 334 0 287 -1
BRE=TH 532 1 268 -1 264 2 227 -1
BEEMTH 239 -4 105 -2 134 -2 99 -2
EEEATH 712 7 329 2 383 5 352 6
Kt —TH 308 2 152 2 156 0 132 0
XK —TH 229 0 113 0 116 0 91 0
AFH—TH 133 1 65 1 68 0 67 0
AFHZTH 10 0 5 0 5 0 5 0
AFH=TH 189 3 95 3 94 0 87 0
TEEIA—TH 672 0 320 -1 352 1 244 -2
TEsETFE T H 333 2 155 1 178 1 129 0
TEEAR=TH 391 -3 209 0 182 -3 148 0
TEEIFEM T B 500 -1 229 -2 271 1 208 -1
TEEAATH 633 -3 306 -2 327 -1 260 -2
TEEIPRNT B 358 -3 189 -1 169 -2 170 0
TEsETFEE T H 654 1 317 0 337 1 303 1
TEEIFEA\TH 707 6 339 3 368 3 300 3
TERER—TH 1,479 4 705 0 774 4 622 1
THREERTTH 411 2 212 0 199 2 168 1
TEREIR=TH 686 2 332 1 354 1 283 3
TEREIERIUT B 1,139 2 550 1 589 1 458 1
TEHREERATH 993 0 515 1 478 -1 506 1
T2REERANT B 559 -5 282 -3 277 -2 306 -6
TEZRERETH 1,515 15 777 3 738 12 654 11
TARETERNTH 1,221 -1 560 4 661 -5 571 -1
TEREIRAT B 420 -1 203 0 217 -1 138 0
TEEIE—TH 90 3 50 3 40 0 71 1
TEEIEZTH 101 -3 67 -2 34 -1 79 -1
4N st 81,748 21 39,699 -4 42,049 25| 33,623 -15
AEH]E 108 0 47 0 61 0 69 0
AEHTA 104 -1 52 0 52 -1 59 0
AEHERE 13 0 5 0 8 0 10 0
AREHT/NBR 114 0 52 0 62 0 51 0
AEHKH 9 -1 5 0 4 -1 6 -1
AEHTEH 64 0 26 0 38 0 26 0
AEH R 10 0 5 0 5 0 7 0
AEHE /R 9 0 3 0 6 0 5 0
45 12 0 4 0 8 0 9 0
AEMIXEEST 443 -2 IR 0 244 =2 242 il
IN= 1 AVES] 35 0 18 0 17 0 22 0
IN= 1RO 38 0 17 0 21 0 27 0




IN= I E0) 38 0 17 0 21 0 23 0
[1: SHTER S 30 0 11 0 19 0 19 0
[LERTEAR 59 -1 28 -1 31 0 33 0
[LSHEHH 25 0 14 0 11 0 16 0
NG9 26 0 17 0 9 0 17 0
[LEE/NFS 35 0 16 0 19 0 15 0
FEH] 36 0 21 0 15 0 23 0
[ S EEET 322 =1l 159 -1 163 0 195 0
SUEERSET 765 -3 358 -1 407 -2 437 -1
TR ET [ A _E 1,372 3 662 3 710 0 486 2
T2 X T ] EH 718 -3 308 -2 410 -1 227 0
&R R 1,255 1 601 0 654 1 419 0
e 2K T iz E P 1,048 6 521 4 527 2 371 1
e 1,363 -2 669 0 694 -2 457 -1
e 1,153 -6 540 -4 613 -2 422 -3
TN ] = AR 3,961 9 1,921 3| 2,040 6| 1,423 3
TR X ERET 10,870 8| 5,222 4] 5,648 41 3,805 2
ERILIET_ESREESF 2,117 -2 993 -4 1,124 2 697 2
ERILIE] RSB 2,634 3 1,308 -1 1,326 4 921 1
ERILIETER/)N I 2,036 -7 1,019 -3 1,017 -4 786 1
BRI BT PaR T 1,525 -7 753 -4 772 -3 515 -2
BRI LI BT iF 1,147 -2 568 0 579 -2 413 -1
ERLLIET) 1R 2,255 -5 1,111 -4] 1,144 -1 810 0
ERILIE] R T 5,490 15| 2,631 6| 2,859 9 2,021 10
BRI [X &R 5T 17,204 -5| 8,383 -10] 8,821 5 6,163 11
a 5t 110,587 21| 53,662 -11| 56,925 32| 44,028 -3




